Calculating Change Worksheet 2

Mentally calculate how much change each person has.

1. Jessica has 70p and she spends 42p.How much
change does she have?

2. Martin has 56p and he spends 23p.How much
change does he have?

3. Colin has 89p and he spends 68p. How much
change does he have?

4.Sarah has 76p and she spends 43p.How much
change does she have?

5.Emma has 97p and she spends 46p. How much
change does she have?

Challenge

Make your own change word problem like the ones
above and find out the answer.



